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Information and Communication Technology

MARK SCHEME
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lnstructions:

7. Acceptable alternatives for a given word or set of words are separated by slashes (/).

2. Alternative answers are separated by double slashes (//).

3. Marks should not be given for a question if more than the required number of answers are
written by the student.

4. '/ indicates to consider as correct if the student's intention is correct.

5. indicates that any credit for this should be given only if A is correct.
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7, (i) ueoo qdor q16, A a:@ Q qdiO (afiay) ese*oc Ogalrl. eOO gdco qg EDg (integer) qooui 5 d
qOoQ o8. AIOI AI1I A[21 At3l At4l

(a) eoo A q<fio @za ooro et:aioc qB omd odoo Scard@zo tse Do erooesr g8qco:o @cc
qdOuJ:r-

BEGIN
tr'akre = A[0J
k= I
wlrlli (k<=4)

IF Alkl < Value THEN

ENDIF
lek+i

ENDWHILB
DISPLAY Value

END
(b) garo { +tB or:rd odao E€@dzrJ gQ:r eq q4€er8o.3 qdOc q1E
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Paper ll (compulsorv questionl
1.

Two examples for information

One mark per any of the following. Maximum of two of them.

o SOsconmooi arcOr:::> eoc:
r 6,eB@ SOecoarmcs

r qOO SOecoarr':c:
o SOsce:aanoci 9czsrco

o dOe:ezlaloci @O>mco

o dOEcerarzloc! EOe'ac,/l O18 eoEar Qzrr o<5o llqa<dA O18 eoEz:r Q:r o6zl
o qr:'lJco?r<c coqeoc SOocozla:oc4 gmcO16
. 9d SOecearzlcs

(ii)------ ---------{2I
Poft label to port name match

Two marks for 4-5 correct, one mark for t-3 correct. Exact spelling important for
B, C, D and E.

A-Audio eoD y' , B-RJ45, C - HDMI, D - USB, E-VGA

--l1I

Convert 1260ro to its octal equivalent

// 23s4

Convert Al ro to its binarv equivalent

1010 0001, // 1010 0001

(iv) (a)

Draw a truth table with two columns A and

(b)---

Boolean expression for S

The dot is not compulsory.

S = X.Y'+ X'.Y ll S:X.Y+X.Y
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(v)------- ------l2l

Write down folder names

Two marks for 4-5 correct, one mark for 1-3 correct.

A- em, S- C- ss. S- x5rre, E - 2019 J
e

l2l(vi

Formatting task to tool icon matching

Two marks for 3-4 correct, one mark for t-2 correct.

4-Q, B-S, C-P, D-U

(vii)(a

Which two fields make the primary key?

Exact spelling important. lgnore case and space defects.

Month SalesReplD

Most suitable data types for Month and TotalSales fields?

Month: Text oco) Totalsales: Currency
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Match P, Q,R,S in the flowchart to statement numbers

Two marks for 3-4 correct, one mark for t-2 correct.

P-1, Q-4, R-3, C S-2 e

lf the student had written down the statements, then to be considered as correct, each

correctly selected statement must be exactly written as in the question.

Select proper word for blank

Two marks for 3-4 correct, one mark for t-2 correct.

A-pixelSdesgcs, B-vector oOdOb ,C-Lossy oc6Om, D-GlF

(x) ------l2l

A - Can Gihan see Hameed is a recipient? B - Can Sharma see Gihan as a recipient?

One mark per each

A_T, B-F
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One mark for 3-4 correct.

A-P, B-U, C-R,

-----t1l

Match risks to solutions

D-T

(iiD

Explain 3R technique wr.t.reducing e-waste

Any two from the following with one mark for each. Explaining is important.

No mark awarded for just writing reduce, reuse, recycle.

. t*rSzxrs Egi gse s $ee @g€ rr
l*rtnr-y eslac ot$€ E$ 6&

. E)13r'.f *Jd?'\*S o.r - sad& geg. e*cffi 8:j}}01 (sn)6(5
3l1uP e<**id:nc: -crs€/9 e8mpl" /eg,dc1c::

. gd$on1.W- eSd$i&es zsrg,a:nxrtS 3eq uigrdze r:d, ESdd
.?. r ',RlR..J. AJJJ

(a)---------- -------------lU

person wants to protect a spreadsheet in his computer from unauthorized access. The computer
rt connected to the Internet. Write one way how he could do this.

pdoqo:zof ocEnc 68@ (o6oczor 6gOO/ erla2e9onO)

person cannot afford to buy licensed spreadsheet software for his computer.
rite one thing that he could do.

Any one of the following:

o Eoao 9e erta:49 erazsf/ @5oi:5o80i rs:16fzsi/ @elal @Bai zsrrCzsl @agzoc.o ajdcerrco
. ooc6oC eoEa og,czspd qcocdzo: et44o eto',a;l lGoogle sheets gagzorc.ct)a E;c}aa ll

O gczrp d etSco6rllc.r g)cE?r o3
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-----------tu

Any one of the following:

te down one benefit that the students can obtain throueh this LMS

+bsr$:e*Ugcsi t 6s q#*tsagSr edrsrr.
g&.oesbwc(ftedhack)/ 616ms& ( rnC
rnline *ssigrment / r*ltrld submissions

st.tf? a! I
r/*,"C}{ (&runx}ee+m SSI/€qtq /

i?"",-( ^s r<e<tt{ a:-rn o

(1zi.SO t4*
&tdgelo4O tf $g$iej //&sr,$

oeqitsa /&{fu@6}Ll:ll'e'8-pott l/SzJumrt{r8
e*nox$td gre

erf *;: eu: d ger*q1& /:*1SS Eqids
(d)--- --------------tu

student wants to include in his essay, a part of the content of a website without intellectual
violations. How can he do it?

Any one of the following:

. qr6 g{cA,"*r.:*d er@ rq:,reJ EEt4 eeer a:;rqou sel3 q.-lld 
.

sox@J1 6"n)@1
. .osd$ ,c,rs*ir $3gd€ ae" $6zEr6 e.1E *qr".{-al**rrold o,eiiqdi

e''Eg
. -$l5qJ1 6 rr::C q6r lcCei g r3adq.s.s 63e
. to5axarvi 88 e**dc q,ellr ,l1$i lesro Srr sg€,gzd €"Sg I :

manager in a Colombo office wants to have a video conference with managers in Jaffrra and
atara branches without everybody coming to a single location. Write down the requirements

in these locations.

Two marks for any one of the following. lf incomplete, give one mark.

e6cAes:cs lg,q€ sge {6znc w, ud*;zt,p
drgzsr"s e'rc qosrSdrq5r*

gr.rl q*J?"o serSa e8el6ar Gc$ <ae,* zstr$d)e, tctt
*zi&ioOq:r &4zaxr e* orleSefig*
8*yaj *€,'&&Ew z*eOC*. w qds8rgf,-:

n office wants to create a computer network using a hub, three computers (named server,
A, computer B) and a printer using a star topologt. Draw the topologt diagram.
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3. (i)

key ofteam table

Exact spelling important. lgnore case and space defects.

TeamlD

(b)------- -----------t1l

wo possible primary keys in the Player table

Exact spelling important. lgnore case and space defects.
PlayerlD, StudentlD

(a)---------- -----------I2l

ich tables need to be updated to add a new student of the school to the U I 7 Cricket team?

one mark per each. Exact spelling important. lgnore case and space defects.
Player, Player_Team

hich tables need to be updated to make Nimal Fernando the captain of the Ul9 Football

(iii)

Exact spelling important. lgnore case.

Team

(a)---------- ---------I2l

Record entries needed for ii (a) above

One mark per each. lgnore case and space defects.
Player-) (PLL2O, Piyal, Alwis, 54205)
Player_Tea m ) (T2, P LLIO, 20791

(iD

Record entries needed for the creation of U I 7 Football team with Shane Almaida as captain

One mark per each (lgnore case and space defects)
Team) (T7, Football, U77 , P1005)
Player_Team ) (T7, P1005,2019)

Which tables are to be joined to write a query to find the name of the U l9 Cricket captain?

Exact spelling important. lgnore case.

Team, Player
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Match statement labels to terms

Three marks for 5-5 correct, Two marks for 3-4 correct, one mark for t-2 correct.

A- DNS!$ . B-FYP, C-S D-Ih E-e F- @

Write down examples for software, languages, etc.

Two marks for 3-4 correct, one mark for L-2 correct.

B-PHP C- D-

Select html tass

Exact spelling important.

Five marks for 9-10 correct

Four marks for 7-8 correct

Three marks for 5-6 correct

Two marks for 3-4 correct

One mark for 1-2 correct

L

2

3

4

5

6

7

8

9

10

head

h2

img

p

tr
th

td

ul

ol

href
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5.

(i) Formula for C43 to calculate average mark for Subject 1

ii) After copying above formula, write down what will appear in D43

(i) (ii)
Mark this only if (i) correct

or = Cr*2:C3)

Marlcs I2l IU

(iiD (a) and (b

(a) Formula for F3 to compute Kamal's z-score for Subject I

(b) Copied formula for F42 to compute Kahn's z-score for Subject I

ormula for 13 to compute frnal Z score for Kamal using only COUNT and SUM

=SUM(F3:H3)/cOUNT(F3:H3) //
// or a combination of above

M(H3:F3) / CoUNT(H3:F3)

Do not give marks for any other complicated, long formulas.

(v)---------- --------------l2l

Formula for 144 to print highest Z score

:MAX(13:142) :MAX(I42:13)

Note: Reduce one mark if either the required cell address is given before the equal sign or if the equal sign is missing.

=SU

(r) (b)
Mark this only if (a) cotrect

={.c ={c4z-sc$43y$c$44

of (C witiuutpreceding $)
={C3C

={c42-C$4,3yC$44

ot

!C 
with precediry S) =f$c42- 941

or A combination of above Appropriate copied output

Marks I2l lll
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(iD

Two marks for 4-5 correct, one mark for 1-3 correct.

A-S, B_Q, c-P,

x?.n- .dn.

,":\?a--,

(b)-------

Terms for SDLC related lables

D-R,

Write one input in the school bookshop system

---lu

E-T

--------tzl

Write one process

Any one of the following:

. esr$&8 88ft* (r*e*3ag$e,6.$)

" @.3,egd Ecc,e e't*slts {.se*J es& €ftCt

----tu
Write one output

Any one of the following:

. *8 es$Saldod8p86e,ri+r

. 6e6f est:
' e*ee:ll 6E*

(iiD--------- I2l

Match system development related scenario lables to term Iables

Two marks for 3-4 correct, one mark for L-2 correct.
A-l B-P, c-s,

List two benefits of a computer based information system over a manual information system

Any two of the

following with one mark each: - s.os$sil?id$esi:sgl*rd//ce{4sm@l, .:*.:r.irsrsi ze,,gcr g,greor^rrs q 66e
. SdOe"ersrif/&sF e:"f'c'6,)ttlteglllmrri);:"// ::{ljdOcio0d$r€

!-'etri,t 9'
. 49'*sl Mtt,gc-o. *1$*rri
. *.arrliXi elsEs 8@fr d€&srlzo 5ei:erd i*?r^r&
. fue561":*"rd*'6:f :oOercc,r

P€i36)|} s9:se$ Ar14O g*ib (r:1d&

" zprU*siea{} .';a,en ei}t q6} gttt€,e &*:6: 6dn g"9:a6r,ed ge-;c,;
rtra6<srO

. :r<0ass11d eii:rEi Oq5 o1&:)c

. ds:g:rin}{ls //&59*6 odd s+1it l! s)r sqrr) a1S c:c*:,
" 4g€Oeri o1 *:ss35 sSdl 68o@ers:-e:.

D-R

80 - oordQou ol adSooq,o ?'rE66 @a& gso ooooool q.oo.6. (r!0.€og) aooo - 2ot9 lqo6€6 croooSoo EctDgd ae eQo cFo. 29
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7. (i) ----t2l

Output of the pseudo code when it is executed on array

65

(q@o:d g6qczl eoqeoc eeEi 0t d qQ zodzl..Jzr.)

Statements for P, Q,R
One mark per each. lgnore case.

P: ls Alkl <Value?A[k]< Value q? J
Q: k=k+1 e J

I
Value dzo: oelrrfOa.fa V

Redraw array A after assignments

Two marks for 4-5 correct, one mark for 1-3 correct.

-I2l

A[0] A[] Al2l A[3] A[4]
80 45 88 65 72

Statements for P, Q, R
One mark per each. lgnore case.

L2=L 3 Q?

""es$ W 6" cod:neese*{"{d€n €

P:

Q:

R lt .*-r, ?t\ o ar{m *-
| -+. 

$.r *c.tJ €;l
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